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lesson 11- quiz questions  

hand evaluation revisited  

 

1. For the following hands, you are given a bidding sequence.  Do you agree 

with the last bid shown?  Give all the reasons you can think of to justify your 

decision. 

 

a) A 8 4 2  Your partner opens 1 You respond 2 

      K 6 3  Do you think that was that correct?   

      8 5 3             

      Q 6 2      Why?  

 

  

 

  

b)  J         Your partner bids 1  You respond 3   

      A 9 5 4  Is this bid was correct on this hand?  

      K T 6 5 4   

      7 6 4  Why?  

   

 

 

c)  A 2       You open 1 Partner responds 3 You now bid 4 

      K Q 6 3 2 Do you think this last bid was correct?   

      A 2   

      J T 9 3 Why?  
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2.  What is your next bid on these hands?  Why? 

 

2a)  A Q 7 4    Bidding goes 1NT from partner, 2 (Stayman) from you 

       K T 6 4             2 from partner. What do you bid now?                                 

       3       

       Q J 4 3  Why?  

  

  

 

 b)  A 8 4 2  You open 1 on this hand. Partner responds 1       

       4             What is your bid now? 

       K Q J 6 4                       

       A 6 4 Why?   

  

 

 c)   K T 7 6 3 This is your Partner’s hand.  What should he bid next after  

   Q 7 3               your 3 above?   

   5 3                      

   K J 5 Why?    

 

 

 

3     K J 8 4 2 Partner opens 1  What do you bid with this hand?  

       4          

       Q J T 6 2    Why?     

       8 5      

 

 

 

4     K 9 8 6 You open 1NT on this hand and partner responds 2NT.   

       Q J T 9  What do you bid?     

       Q J T      

       K 5 Why?    
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5    What do you score for taking 9 tricks in a 2NT contract vulnerable? 

       

 

     What do you score for taking 10 tricks in a 3NT contract non vulnerable? 

      

 

    What do you score for taking 12 tricks in a 5 Diamond contract vulnerable? 

     

 

6    This scoring problem relates to play hand 3 

a)  What is the score for making 4?  Non- vulnerable?  

  

b) What is the score for taking only 10 tricks in a 5 contract (i.e. going 1 

down) doubled and vulnerable? 

               

c) What is the score for taking only 9 tricks in a 5 contract (i.e. going 2 

down) doubled and vulnerable? 

              

 

7      This scoring problem relates to play hand 5.  

a) What is the score for taking 10 tricks in a 4 contract vulnerable? 

          

b) What is the score for taking 10 tricks in a 5 contract doubled not 

vulnerable (1 down)? 

 

c) What is the score for taking 9 tricks in a 5 doubled not vulnerable (i.e. 

2 down)? 

 

d) What is the score for taking 8 tricks in a 5 contract doubled not 

vulnerable (i.e. 3 down)? 

              

 


